Efficiency vs hit

o
o
U1
R L L Ly R L LRy LA LR L

o

o

=
P

5 10 15 20 25 30 35 40
TP hits

—=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
—— DQM_V0001_R000000001__Global__mkFitNewOLD1000time__RECO
[Efficienc] —— DQM_v0001_R000000001_ Global__mKkFitNewALL1000time_RECO

=}
O w 2 » ¢
w g o g

o
)
ol
ML LS s L) ey LALas LR L e L

efficiency vs layers
o

0 5 10 15 2l 25
TP layers

Efficiency vs pixel layer

0 0.05F

0O 1 2 3 4 5 6 7 8
TP pixel layers

Efficiency vs 3D layer

0.5

3D layers
S

45|
0.4

7

0.35]

fficiency v:
o
w

£0.25
0.2
0.15,

2 4 6 8 10 12 14 16 18 20
TP 3D layers



	Contents
	Page 1


